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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 am., the students will read the

question paper only and will not write any answer on the answer-book during this
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General Instructions :

()  All questions are compulsory.

(t1)  This question paper consists of 30 questions divided into four sections — A, B, C
and D.

(iti) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of

2 marks each. Section C contains 10 questions of 3 marks each. Section D

contains 8 questions of 4 marks each,

There is no overall choice. However, an internal choice has been provided in

two questions of 1 mark, two questions of 2 marks, Jour questions of 3 marks

each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions.

(v)  Use of calculator is not permitted
) P

(iv)
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Question numbers 1 to 6 carry 1 mark each.

|
f/awmﬁaa&n b, a=x*y* AT b=y} %mﬁ%@mmﬁ,aﬁx,y
’ AT FEATU 8, T A.8. (LCM) (a, b) %1 HH F1 Hifvw |

Two positive integers @ and b can be written as a = x° y* and hi=3r
are prime numbers. Find LCM (a, b).

/e’raiaﬁaﬁmé@m“ﬁm%?

How many two digits numbers are divisible by 3 ?

A
%a@ﬁnﬁ, DE |[BC, AD = | ¥} o BD = 2 &t 2 |
(A ABC) @1 (A ADE) # &/l § o1 37t 2 7
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In Fig. 1, DE||BC, AD = | ¢m and BD =2 cm. A
What is the ratio of the ar (A ABC) to the
ar (A ADE) ? D E
B
Fig. |

A T 30 S 3 (2, -3) R, 91 o m AB 2 | 3R g B g (1, 4) 3
g A % féuries s ifvr |

Find the coordinates of a point A, where AB is diameter of a circle whose

centre is (2, -3) and B is the point (1, 4).
%%%wﬁi%f%—mmﬁw X +4x+k =0 % 9o aArefas & 7
gl |
k 1 98 W 1R i o oo @i 362 - 105+ =0 F T wh-ga % '
yferetr & | ‘l
For what values of k, the roots of the equation x> +4x+4 =0 are real? l
Or

|
:
Find the value of k for which the roots of the equation 3x2 —10x+4k =0 are !
reciprocal of each other. I

|

Atan 2A = cot (A —24°) ®, 91 A %1 9H F1d Fifsne |

HAYGT

(sin®33°+sin2 57°) %1 A F1d HIfoC |
Find A if tan 2A = cot (A —24°)

Or

Find the value of (sin® 33°+sin®57°)
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Question numbers 7 to 12 carry 2 marks each.

;;‘ A S B 4 st areh e s s 7 i 2k &
HYAT

T THIAL A0 26 Yoy, el 1 A0Thet #? 2, 39 vt A 103 72 31 Fifera |
Find, how many two digit natural numbers are divisible by 7.
Or

If the sum of first 1 terms of an AP is n?, then find its 10th term.

/@@aﬁ@m%%ﬁﬁmaﬂmm%aﬁtmwmm%@
| %mam%mﬁaﬁﬁmméﬁﬁﬁawmaﬁ@amﬁmﬁm
1d I |

A game consists of tossing a coin 3 times and noting the outcome each time. If

getting the same result in all the tosses is a success, find the probability of
losing the game.

/ feigati (1, — 3) @ (4, 5) %I f@H aren TaErave, X8 50 @ e §
| ﬁmﬁaaﬁm%,aam#ﬁmx-w%wﬁg%ﬁ%mwaﬁmaﬁﬁm

Find the ratio in which the segment joining the points (1, - 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on X-axis.

%mﬁﬁ@mmwmwmm%aﬂﬁﬁ(ﬁ)zam()%saﬁa
1 HEA1 % 3T FT, Tl 31 i |

A die is thrown once. Find the probability of getting a number which (i) is a
prime number (ii) lies between 2 and 6.

%cqﬂqﬁmiﬁﬁm, zrﬁ:mﬁmmﬁm ex+3y+(3-¢)=0; R2x+ey—c=0 %
A &9 3F 8T 2 |

Find ¢ if the system of equations x+3y+(3-¢)=0; [2x+cy-c=0 hag
infinitely many solutions 9
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/qﬁm weitften % wAm @ 1260 qu 7344 1 HEEH GEGEEE (HCF) 1
Hifdr |
A
wviigy % wele fam tf:qqxh:. (dg+1) A9 (4g +3) % ®Y #1 w1 B, 7 ¢
w1¢ it R |
Find the HCF of 1260 and 7344 using Euclid’s algorithm.

Or
Show that every positive odd integer is of the form (dg +1) or (44 +3), where

g 1S some integer.
@uE - |
SECTION - C
W T 13 9 22 9% YAF U 3 3 F R |

Question numbers 13 to 22 carry 3 marks each.
A

730 41057 - 9x—4 % wvft v F1a Al At gee v e 1R

Find all zeros of the polynomial 3x° +10x® —9x -4 if one of its zero is 1.

@ s @i e % s g9 i 8 At ofeft w St PQ R | P 3R Q W Tt T v
uF fag T yfaeas &l € | (3Ffq 2 2fEw) TP i & s v |

P

5 Tt

T 0
Q
AT 2

PQ is a chord of length 8 cm of a circle of radius 5 em. The tangents at P and
Q intersect at a point T (see Fig. 2). Find the length TP.
P

Fig. 2
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B
Prove that L‘ﬁ |

5 Isan irrational number, given that 3 is an irrational
number,

@ ﬁmmﬁ (sin O+ cosec 0)° + (cos 0 +sec0)® = 7+ tan® 0+ cot? 6.

o
g Fifor s (I+cot A —cosec A)(I+tan A +sec A) = 2

Prove that (sin 0+ cosec 0)% + (cos 0+ sec 0)* =7+ tan? 0+ cot? 6,

Or
Prove that (1+cot A —cosec A)(l+tan A +secA)=2

| }%@ﬁmaﬁmmﬁaaﬁﬁﬁm%ﬁﬁn%?ﬁmﬁ%m%nsa&%m
| wﬁw@aﬁiﬁmﬁﬁﬁn%ﬁg@%m@nﬁlﬁmﬁmmm
hifsu |

ST
o i -;- ém%,mmmﬁzmmé,aﬁzﬁéﬁmﬁ%ma
4 H | g 9 | 98 i 3 i |

A father’s age is three times the sum of the ages of his two children. After 5

years his age will be two times the sum of their ages. Find the present age of
the father.

Or
| ; 2
A fraction becomes 3 when 2 is subtracted from the numerator and it

becomes %when | is subtracted from the denominator. Find the fraction.

@ y-mmaaﬁgmﬁma’rﬁga‘i(5,~2)am(—3,2)ém%|
AT
fogaii A2, 1) a1 B(s,—smﬁaﬁmw%@r@ugﬁgaﬁ P @41 Q W #mEwifeg

I & ST P 1o A% P 2 afe p, 0 g 2T Ve TE R s oo
- R, 4 k% HH 16 i
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Fig 3, 2 ACB = 90 and CD L AB, prove that CD? = BDX AD.

Fig, 3
Or

I P and Q are the points on side CA and CB respectively of A ABC,
right angled at C. Prove that (AQ" + BP*) =(AB” 4 PQ?)

.}f A 4 A, WA &9 F1 8 0 i, R ABCD s B Fed)
wgéﬁmoéd\ﬁﬁmoqam%:%n(n—s.mﬁfm

[
" Ty 3

Find the area of the shaded region in Fig. 4, if ABCD is a rectangle with sides
8 cm and 6 em and O is the centre of cirele. (Take n =3 [4)
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Question numbers 23 to 30 carry 4 marks each.

. |
}/Hﬁ sec 0= .\'+4~x,.\'¢0, @l (sec 0+ tan 0) Fd ST |

. o
IfsecO= Xt ¥ #0, find (sec 6 + tan 0).

7 e T 56 < wwen il % drett a1 st s G e % ST
a1l % R B R |

Prove that the ratio of the areas of two similar triangles is equal to the square
of the ratio of their corresponding sides.

-

: et forelt et & 50 Afienl <t 3frer sy e 2 | ‘
e a1 (T H) 200-220 | 220-240 | 240-260 | 260-280 | 280-300
ZfHeni =hi AT 12 14 8 6 10

TR F27 F UF T FH TGP h Gl ST 5 H FEA qo1 IHH qH0n
it |

FgaT
ﬁﬁ@mmméﬁzsv&aﬁmmmﬁm%ﬁﬁ@#aﬁ?ﬁm |

T el w2 Wi @Y 1 i |
ress 100-150 | 150-200 | 200-250 | 250-300 | 300-350

gftardi it 9e : 4 3 12 2 2
The following distribution gives the daily income of 50 workers of a factory.
Daily income (in ) | 200-220 | 220-240 | 240-260 | 260-280 | 280-300
Number of workers 12 14 8 6 10

Convert the distribution above fo 2 ‘less than type’ cumulative .
distribution and draw its OgIVE:

Or

30/1/3 [PT.0 |







Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the

angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

29/ A U & A T WY U 3 1% si21 1 oyt v & | a1 S A 7 &

uﬁﬁ.mmmﬁw%zdﬁmwém%|mwmmﬁ%aﬁ
WA F1 99 F1d i)

HYAT

o A 10 52 B 4T % Sfige 30 Fedt qen e % s 44 frel 9l €113

5 # 3 40 Bl v 3 i va 55 Pt aw % orgEa S & | ¥R 1 =
Fo1 77 1 foop v 1 =re 91a it |

Two water taps together can fill a tank in l% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or ’
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the :

stream and that of the boat in still water.

/ 2f2 e GHiE A9 Yo IR 21 1 AN 40 B TU1 VYW 14 931 FI A0 280 B |
=4 ¢l % WUH n U211 A0 G FI |

If the sum of first four terms of an AP is 40 and that of first 14 terms is 280.
Find the sum of its first n terms.
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